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1. 3 RETFo8n H X 2m:

(a) Ll—y':o s (5%) (b) y" =3y +2y=4e" ; (5%)
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(c) yl+-3—y2:0, ¥,=6y,=0, »(0)=0, »,(0)=9 - (5%)

2. T S|7‘J‘$i£'i/?§12x+3y+\@z,:0 v i &\ Ssziiﬁﬁ’]%’g%x+y+%z=2  Eii 2R
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@FHHNKE S A S 89 EfikdE o (6%)
(b) F3HHE S 2 S, M ey 3E8E - (10%)
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(c) #1 A Stokes & ¥¥ 35 8f cj'CF.dF:O P REYCH—HEZ R - (5%)

4. FHAFT P HA R B E AR AF 3L ¥ & (Fourier series)d97t X *
1, for —L<x<0,

@)f00={; (10%)

, for 0<x<L.
(b)f( ) 1, for —L<x<0, 8%)
X)=
0, for 0<x<L. °
5. (a) 3 LA#R & 42 (polar coordinate) % 5= Laplace’s equation Vu(x,y) =0 ° (6%)
(b) HARE % R AT 569 R B u(x,y) ¢
Vu(x,y)=0 for x* +y* <1 (10%)
u(x,y)=y* for x*+y’ =1
6. (a)FHEAFA DR -8=00HEMR - (6%)
O HTRARBFREAz=1HECFEH26E - FHEUATHHHL

(’6 _32261—22 (10%)
T (7 -8)(z-1)



